Ch. 11 Work and Energy
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Work done by body moving
in Circular Direction
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9. Is it possible that an object is in the state of accelerated motion due to external force

acting on it, but no work is being done by the force. Explain it with an example.

10. A ball is dropped from a height of 10 m. If the energy of the ball reduces by 40% after

striking the ground, how much high can the ball bounce back? (g = 10 m 572)

11. If an electric iron of 1200 W is used for 30 minutes everyday, find electric energy

consumed in the month of April.

Long Answer Type Questions

1. Alight and a heavy object have the same momentum. Find out the ratio of their kinetic

energies. Which one has a larger kinetic energy?

2. An automaobile engine propels a 1000 kg car (A) along a levelled road at a speed of 36 km

h~L. Find the power if the opposing frictional force is 100 N. Now, suppose after travelling

a distance of 200 m, this car collides with another stationary car (B) of same mass and

comes to rest. Let its engine also stop at the same time. Now car (B} starts moving on

the same level road without getting its engine started. Find the speed of the car (B) just

after the collision.

|5}

velocity of 4 m s™! by applying a force. The trolley comes to rest after traversing a

distance of 16 m.
o (a) How much work is done on the trolley?
o (b) How much work is done by the girl?

. A girl having mass of 35 kg sits on a trolley of mass 5 kg. The trolley is given an initial

4. Four men lift a 250 kg box to a height of 1 m and hold it without raising or lowering it.

o (a) How much wark is done by the men in lifting the bax?
o (b) How much waork do they do in just holding it?
o (c) Why do they get tired while holding it? (g = 10 m s72)
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